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ECRITURE SCIENTIFIQUE. - https://www.toupty.con

Classe de 4°¢

Exercice 1

Compléter par le nombre qui convient :

— 500000 ‘

Exercice 2

Compléter par le nombre qui convient :

p1. 4209% ......... = 42090 »3.
»2. 0,00000026 =2,6X...... >4
Exercice 3

Compléter par le nombre qui convient :
»1. 0,006052 = 6,052% ...... »3.
»2. 1,404x .. = 0,000001 404 »4.
Exercice 4

Compléter par le nombre qui convient :
»1. 0,000006043 = 6,043x .. »3.
»2. 0,0003039 = 3,039%..... »4.
Exercice 5

Compléter par le nombre qui convient :
1. 9,048%x .......... = 9048 »3.
B2, 4AX o =04 »4.
Exercice 6

Compléter par le nombre qui convient :
»1. 503200 = 5,032% ........ >3
P2, 25X i =250 >4
Exercice 7

Compléter par le nombre qui convient :

»1. 5,05%........ = 5050000
»2. 3505 =3,005%x ..........

»3.
»4.

»>3.
»>4.

0,004012 = 4,012x ......
20260000 = 2,026 .....

2,047x .. =0,000002047
7,709% ..... = 77090000
0,007031 = 7,031x ......

6,505% . ... = 0,000 065 05
3,084%..... = 0,000 308 4
8,009 . ..vn.. = 80,09
7,091% .... = 709100000
5,039% ...... = 0,005 039

. 3,049%..... =0,0003049

. 0,000008807 = 8,807 ..

4,005% ... .. = 0,000400 5
0,0000062 =6,2x .......
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»5.
»6.

»5.
»6.

»5.
»6.

»5.
»6.

»5.
»6.

»5.
»6.

»5.
»6.

0,00061 = 6,1%..........
80,52 = 8,052X ... .......

750500000 = 7,505 . ...
8028 = 8,028% ..........

4,066% ... .. = 0,000406 6
60,26 = 6,026X . .........
5,090% . .... = 0,000 5099
39K 0 = 0,039
703,7 = 7,037X «ovnv. ...
350000 = 3,5% .. rnv....
0,000 005503 = 5,503 ..

0,000 000308 = 3,08x%. ...
60700000 = 6,07x ......
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